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[ General Knowledge }

. BSWI & AR ford g & Icd1e A 3ol &2

The people of Harappa were leader in the production of
which item?

'ﬂ?lﬁCurrencies (b) HIY &b 3SR Bronze tools
UMY Cotton (d) Sl Ba rley

HegUl Bl IS0 B! fHaa 3 Serar?

Who pushed Kalhan's Rajatarangini forward?

TR Td AT wilhan  (b) fdegUI Td HHC Wilhan
and Merutung and Mammat
SRSl U BT Jonraj  (d) SIHRTS UG H16R Jonraj and

and Merutung Shriver

YRa # 3 &1, Wikt g &1 ofd fora g game
Which war was the end of the French challenge to the
British in India?

WIRI 1Y Battle of (b) SRR PTYZ Battle of
Plassey Buxar
TSI B1gG Battle of  (d) FRIUSTH BTG War of
Wandiwash Srirangapatnam

YR AU ® 26 ddaR, 1949 H FIP gRI
U (Enacted) forar T U2

The Indian Constitution was enacted on 26 November 1949
by

AU GUT gRT (b) HRA P TR TR gRT
Constituent Assembly Governor General of India
YR WG gRI (d) fofe=T ¥9e R British
Parliament of India Parliament

foeft -y & daga & e & & Y= &t
Sffvrardar ¥ gfda F TRE 1S B-

The guarantee of freedom from the payment of taxes for
the promotion of a particular religion is guaranteed by?

3Tw5G-25 GRT Article 25 (b) 31J@5G-26 GRI Article 26
3Tw5G-27 GRI Article -27  (d) 31J@5G-28 GRI Article 28

e GHT # Hl fadas &t o Adas & Fu d o
A0 HRaT 82

Who certifies a bill in the Lok Sabha as a money bill?

TI'E'CIﬁT President (b) 3 A=A Minister of

Finance

TYTTHAT Prime minister (d) AP THT T 37eaed
Speaker of the Lok Sabha

ApTer ydauTan fhw Iy A fRa 82

In which state is the Maikal Range located?

SR UG Uttar Pradesh (b) XTSI Rajasthan

S8R Bihar (d) BTIRTTG Chhattisgarh

Frafafea &9 5 ufea & g 9t S Afga g2
In which of the following processes is the energy of the Sun
contained?

A ST H In Thermal  (b) UHTRI faggd & Sool- #
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emission In Light emission
DT FTGT H In (d) P fGEusa H in
nuclear fusion nuclear fission

Ay FTITR FeT A SRT P ATR?

Which is the world's largest river delta?
WSundarban (b) 3 9 Amazon

basin

TS Greenland (d) &I G Congo Basin

o & 9@ fra oAy § TRPR gRT 321 # 95d &
T 9618 ST 91 e?

Under which of the following circumstances should the
government increase the amount of cash in the country?

TSI Inflation (b) ST 3UTWBITA Currency
deflation

RIFAH Stagflation (d) TR Reflation

IS ©1 Y & UYT UYH dig Witfa $t sregerar feam

D2
Who presided over the first Buddhist Council after Buddha's
death?

HeIhTU gIRT By (b) ﬂﬁqm By Dharmasen

Mahakassap

SR §RT By (d) T gRT By Nagsen

Ajatshatru

TET 4=T BT HRITYS BI YT?

Who was the founder of the Slave dynasty?

SATHR Iitutmish (b) SATSE fAdSHt Alauddin
Khilji

& Balban (d) $ggeA Ud® Qutbuddin
Aibak

Ay g F g I ga?

When did Tipu Sultan die?

1857 3. 1857 AD (b) 1799%F. 1799 AD

1793 3. 1793 AD (d) 1769%. 1769 AD

W &Y el fra siffeR A fAfga @ 2

Freedom of the press is enshrined in
fafral &1 9o wRefo (b) HTNUT &1 XGAAT Freedom
Equal protection of law of speech
Y T B Wa=dr (d) HT 3R Trft Y R
Freedom to form Safety of work and
associations materials

o ¥ & e Tgueit e A T erat @ diew
wHiad fear

Which of the following Bahmani Sultans shifted the capital
from Gulbarga to Bidar?

fORISTRITE F8HH! Feroz (b) WHasangangu
Shah Bahmani
SEHGRIE §§H-T Ahmad (d) WTITZITWMahmud Gawa

Shah Bahmani
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foren =mararat & =mard=n $ g e gri @t
STl 82

The judges of the district courts are appointed by

RISUT Governor (b) H@Iﬂsﬂ Chief Minister

fafer w5t Law minister (d) Tl'gqﬁf President

YRA $1 VUG gRT ga-gga faRIedt &g forg af &
iy farar war um?

In which year was the anti-defection law passed by the
Parliament of India?

1984
1986

(b) 1985
(d) 1988

g‘gma‘rﬁaﬁﬂaa&mﬁﬁﬂfﬁam%
98 6-

The main factor that determines the climate of an area is-

FE Altitude (b) 3TEITRT Latitude

FTUT BIUBR Type of  (d) T & THTTT Proximity
vegetation to the sea

5 wnfes w+it weTwmEar 32

Which is called plastic money?

m\—:ﬁaw Paper money  (b) PIST PBTS Credit Card
SR Y Discount (d) TR Share

coupon

Y 9181 A SIoTe &1 SuaNT 3Hfere fhar wiman e -
Diesel is used in heavy vehicles because -

Y AT IR ST B! (b) HH T 3R e B Fad
YR&T More mileage and Low cost and fuel saving
engine safety

I &l SR i
ddd High Efficiency and
Economic Savings

(d) U &I STUeT I8
& HRUT Due to being
cheaper than petrol

TP SR 3 § ug fRAyd srgea ar s -

The electrolyte used in a car battery is -
RESENIREEEE] (b) TR T Sulfuric
Hydrochloric acid acid
fCd S Nitric acid (d) S3{TYd ST Distilled water
T XTeg BT UART TIYUH T g UT?

Where was the word gotra first used?
3Yddg H In the (b) FAG H In the Rigveda
Atharvaveda
IS H In Samveda (d) ZIT{ﬁ?fo In the Yajurved

AL fEalt & 3THHUT F U RN BT D
P UT?

Who was the ruler of Devagiri at the time of Alauddin
Khilji's invasion?

9% &d Ramchandra (b) UdTd ¥%cd Pratap

Dev Rudradev

Tfcte BTEHR Malik Kafur  (d) 10T X fAE Rana Ratan
Singh
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I 3iTa-mRTeT g5 foras it 82

With whom is the Third Anglo-Maratha War related?

TR - TR Y Sir John (b) IS JaoTal! ¥ Lord
Shore Wellesley

TS R ¥ Lord (d) WIS BT Lord
hastings Cornwallis

YR ST AR ST UgH Hvdl 8-

Indian constitution provides citizenship-

THH MYRTWOnthe  (b) AT P 3MYR TR On the

basis of birth basis of residence

TMIHRUF YR W on  (d) ITJad T & SMUR R

the basis of naturalization Based on all of the above

WRd & FafafEa wgufedl § @ o9 ¢ gfa
TS | WIS IR &2

Which of the following presidents of India have been
associated with the trade union movement?
dtdt Ak v v Giri (b) ST HEIEA 3l A

Dr. Fakhruddin Ali Ahmed

ST SR g Dr. zakir  (d) ST, &.3R. TRV Dr.
Hussain K.R. Narayanan
IWR-UfH A YR YfYr F A1 fha =1 & A1y et
2

With which country do India share land borders in the
north-west?

STAPT Sri Lanka (b) WIMR Myanmar

SIS Bangladesh (d) UIf¥d™ Pakistan

YR dfaum $ <& 1€ Ay syl § @ 19 TS
& AT B G 4T 3P g & 1 fyaver I 82
Which of the following schedules of the Indian Constitution
gives a list of state names and a description of their
territories?

Ul SR First (b) GO SIIEHT second
schedule schedule

Tt g Third (d) Tt S Fourth
Schedule schedule

%ﬁ?{ (Moraine) ﬁ\fTFlﬁ %?

Where are Moraines Formed?

qfdl & Secl Delta of (b) & &3 Dry area

rivers

gHT! & Glacier area (d) Waﬁ Monsoon

region

AR W FAE BT TS fpant foar ae

Who formed the National Planning Committee?
STATeR AT 8% Jawahar (b) U QdIdT A. Dalal

Lal Nehru

U= S Subhash (d) Tl SgTgR X! Lal

Chandra Bose Bahadur Shastri

frord 3@ sifw sfosar Fafafaa ¥ 3 frad oo g
i eware:
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Reserve Bank of India issues currency out of which of the

following?

W@l Gold (b) facx Elﬁfﬂﬂ%f Foreign
securities

URAWMGRBIUAYT  (d) Sudad T4t Al of the

Government of India above

Securities

e F1a W f5 Ux] A1 Sre=aT AT AT R?

Which animal is considered as Aghanya in the Vedic period?

Sd Bull (b) rlk‘.';sheep

T Cow (d) EI Elephant

fIoraTR AT 3t R feq 3t o

Who founded the Vijayanagara Empire?

IS I A Vijay Rai (b) BRER-TEAT A Harihar-i

BRER IR gFbT A Harihar  (d) FaBI-facia 7 Bukka-I1

and Bukka

YR T 3t waraar d o smewif wd Sgxal 3t
FWET & T8, ITH ARSI B TE 8-

The ideals and objectives outlined in the Preamble of the
Indian Constitution are explained:
Td BRI Tl ™ (b) 9 & ifd e
HIn the chapter on ﬁl@iﬁ%ﬁ{mﬁln the
Fundamental Rights chapter on Directive

Principles of State Policy

Td SRGRY, AT H AT (d) Ffdeu™ & foreh off sream
ﬁmm@ﬁm ff:rEﬁ Not in any chapter
Hacl b AA”TH In the of the constitution

chapter on Fundamental
Rights, Directive Principles
of State Policy and
Fundamental Duties

Fielt ER & Adu® S1d § URT A a1l feeett &1
WY T HI YT?
Who was the first Sultan of Delhi to participate in the
public festival of Holi?

fORRIST QMG b Firoz (b)) HEHAG foH JITcieh

Shah Tughlaqg Muhammad bin Tughlug
fdar Aal Sikandar Lodi  (d) 3STH @G Ibrahim Lodi
DAY IFHTSIT (1680-1689 §.) FFd A= BT AP UT?

Chhatrapati Shambhaji (1680-1689 AD) was the ruler of
which dynasty?

HRITST Maratha (b) & Nanda
Bﬁ?ﬁHaryanka (d) IﬁﬁMaurya
HRA & WA & vamad] aut TRttt | wwifta

734 3R 749 WaANf® WMy & TUG YR &
YT S A2

Who was the Prime Minister of India at the time of the
73rd and 74th constitutional amendments related to
panchayats and municipalities in the Constitution of India?

mﬁ‘iﬁlndira Gandhi (b) ol Tieht Rajiv Gandhi
0.a RRwIE P v (d) ot o RIg v P singh
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Narasimha Rao

719 &1 ¥ fory I59 & gt A wpal & fog fawarfya
ATRAT IS 3= D1 §2

Recently the Chief Minister of which state has launched the
Extended Breakfast Scheme for schools?

TG Tamil Nadu (b) P Kerala

PlcP Karnataka (d) aﬂ‘s‘qﬁnone

71a & # 33T v Aghendd THIRIGRE & sreme
BT E?

Who has recently been elected the President of the Indian
Pump Manufacturers Association?

3 HRATd Atul Karwal  (b) Teihd fHYT Neelkanth

Mishra
¥. d). PBIfd K. V. Karthik (d) a"ﬁ'sc:lﬁnone

PR gra @ H a1 B wR e al= fHar @

Who has recently launched new fashion store Usta?

CICT Tata (b) 3 faRE Aditya Birla
Ramdg ke d Reliance (d) Eﬁﬁaﬂéﬁnone of
Retail these

fay wyafeew A=l A fFg 37 3 goul #Y axa00
ez fYar 9 gdc A a1 TRETE Rels 91T 82 Which

country has created a new Asian record in the men's

4x400m relay team event at the World Athletics
Championships?

HRd India (b) I china

SITUT Japan (d) S o Bangladesh

%@uaﬁﬁaﬁaﬂmﬁ?mﬁaﬁﬁtﬁwﬁw

Which day has been announced to be celebrated as
National Space Day?

22 3T 22 august
24 AT 24 August

Iee TYafew ANTARM A s Asd Siaq a1 ugd
‘-ﬂ?‘cﬂ'ﬂﬂ'ﬁqaﬁé? Who has become the first Indian to win

gold medal in World Athletics Championship?

:ﬂﬁih'q?.:TNeeraj Chopra (b) @ﬁtﬁqﬂDP Manu
&HRIR ST Kishore Jena (d) g ATEd Rohit Yadav

YRdW Phe W & SHTs AN & <Eca
mﬁmwmm%?Whohas

acquired the title sponsorship rights for the domestic
matches of the Indian cricket team?

TRER HTS Master Card (b) W@@Star Sports

IATESIUHH B §F IDFC (d) TSTH Paytm

First Bank

BT &1 A P8l & “HEaTe ISTHT B GI <71 e 82

Recently ' Bhadarwah Rajma' of where has got Gl tag ?

ijammu and (o) HERIY Maharashtra

Kashmir

(b) 23 3T 23 August
(d) 25 I 25 August
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52.

Gh'%_'-‘ZTIOdisha (d) aﬁ'sfq_ﬁ?fnone
BT 8 H TRTo oy & §is TaHsST HIF a9 82 Who

has recently become the brand ambassador of Swaraj

Tractors ?

e dgadR Sachin (b) 7% fg & Mahendra
Tendulkar Singh Dhoni

SHfPATH §= Amitabh (d) IS T8l none

Bachchan

g &1 # BN g9 A 5 fae &1 7ar e afvg
forga f5aT 82 Recently who has been appointed as the
new Defense Secretary of Britain by Rishi Sunak ?

SAR BT Umesh (b) e T Grant Shops

Revankar
S 9TeI Ben Wallace (d) ®Is T8l none

BT & ® P ¢ FevawEa @t sars Siaq arelt uge
YR 'FI'%ET CEil %? Who has recently become the first

Indian woman to win the International Emmy Award ?
U&hdl HYR Ekta Kapoor  (b) ST HINTA Shreya Ghoshal
YT HIDBS Neha Kakkar  (d) IS T8l none

g9 g ¥ Wdd YRd & Ugd faa WAt & ufewr &1
SATARUT Hgl far mar %? Where has the statue of the
first Finance Minister of independent India been unveiled
recently ?

%srsc Chennai (b) HIl Kochi
Eﬁ'!:i_@@TCoimbatore (d) aﬁ'sfqgfnone

BT €1 ® DI T 3= SIATHD BT IR= B2 Which

country will launch Islamic banking recently ?
I china (b) TG Japan
=Y Russia (d) aﬁé-‘-lgfnone

[ Reasoning ]

i fad e wet ® foreg (: ;) 3t anif R ) v fw gu
7, <t for ooy A foreft ypR Tafla 8 | SRt smuR W
g (: :) P i W 138 T vreg @ Wt faweni 4 9
3fra e g |

IfEar : yaRor:  SeifaeE ;2

In the questions given below, two words are given on the
left side of the symbol (: :), which is related in some way.
On the same basis, select the appropriate word from the
options related to the given word on the right side of the

symbol (: :).

Radio: Broadcast:: Television:?

YHTIR News (b) T Music

TS Entertainment (d) THIPRE Telecast
e fow ™ den f@er § gyare foe (o) &
R R $I - w2

8573441723

(@)
(©)

53.

(@)
(©)

54.

(@)
(©)

55.

(@)
(©

56.

(@)
(©)

57.

Which number will come in place of question mark (?) In
the following given number series?
857 344 1723

6896
6976

(b) 7225
(d) 6254

foret fAfira Y A BRIGHT BT Jscsar for@T wiTar @ | St
PIS A JOINED BT HY forar s »

In a certain code, BRIGHT is written as JSCSGF. How to
write JOINED in the same code?

JPKEFO (b) JPKMDC
KPJCDM (d) STHIDIS T8l None of
these

B: ASiPal 5 B 3R Y& $I TP qgueR N A IS
| SIet, IUT SR AT P ST A | | I+, a1 P It iR
? | TS, IUT IR T S N A § | 9ag fop fa A
Tt SR PR 2

Six girls are sitting in a circular circle facing the center. Julie
is between Rambha and Rati. Rajni is to the left of Shweta.
Shahnaz is between Rambha and Rajni. Tell who is on Rati's
left?

AT Shweta® (b) IHTRambha
IS Rajni (d) TGS Shehnaaz

TP e A ST BT HUR A 16 a7 3R 9 A 15 a1 HH
- wendpafraiome?

In an examination, Archana is ranked 16th from the top
and 15th from the bottom. How many students are there in
the class

30 (b) 31

32 (d) ﬁﬁﬁaﬂgﬁ None of
these

& it snpfa BT eagd S sremae wY i Rl A ush

PISWS -
Study the given figure carefully and answer the questions
given below -

3l Srpfaral A Hielg Sieh) BT ART TN 2

What will be the sum of the digits present in the two
figures?

6 (b) 15

20 (d) Eﬁ@raﬂs‘qﬁ None of

these

T vy W A S a1 9 B R IUF 91¢ & e |

3R 1 3T T §1 smuwt i Y S FUAl B "™

AT R, Ha €1 3 Fagd a2l @ fer 8, i1 sl &t

ufew, fe au Fifoe for o1 a1 freepy few e syt &1

%meﬁmm%,a@mﬁawwm
[
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FYT: FO NI I 8|

Tt ¢ TR B

. PH-N-PH $O AT IR

I PU-A-PUFS URR S 2|

In the question below are given two or three statements
followed by two conclusions | and Il. You have to take both
the given statements to be true even if they are different
from the commonly known facts, read both the conclusions,
then decide which of the given conclusions logically follows
from the given statements irrespective of the commonly
known facts.

Statements: Some dew are drops.

All drops are stones.

Conclusion:

I. There are at least some dew are stones.

Il. There are at least a few stone are drops.

fofSe afe Faafrsed 1 ) e, afe Faa fsed
IRV HRAT | Enter if SIERUI BRAT | Enter if
only conclusion | follows. only conclusion Il follows.
fafSre, afe i feps 1 an (d) afe 1 3R 1 AT ST
Il 3TERUT FHRAT B | Enter if FXA G| If both I and Il
either conclusion I or Il follow.

follows.

TR B SR o A1 A Pel, I8 A U1 31 uell & Hig
P IET P AT § " ST ASH! BT IHT I AT & WIS T R
fzar e

Looking at the picture, Hema said, "This is the daughter of
my father's wife's brother's sister". How is this girl related
to Hema's mother's brother?

Tl Aunt (b) TSI Niece
CLl Daughter (d) HIdl Mother

et af & RydaR w1 Y 7 artE IfAaR B, &t ot
HEH B 7 ARG P DI A1 feA gRI 2

The 7th of September of a year is Sunday, so what day will
it be on the 7th of the following month?

fdaR sunday (b) @WMonday
TICTAR Tuesday (d) mThursday

Ife p BT MR <, T HT AT -, R BT AT + 3RV BT
AR« B,

If P means +, T means -, R means + and V means x, then
23R16V4P2T10=?

68 (b) -85
65 (d) 45

fFrafafaa &3 v ven o # yyas s o) F
T R B0 = st 2

Which number will come in place of question mark (?) In
the following given number series?

150, 152, 149, 153, 148, 154 ?

155 (b) 152

147 (d) 149
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(@)
(©

63.

(@)
(©

64.

(@)
(©

65.

(@)
(©)

66.
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67.
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68.

afe fAit Te UTIT T EAT BT 318 TUT CHAIR BT 24156
forar wirar @ ot St yTar ® TeAcHER Y T feRaT ST
?

If EAT is written 318 and CHAIR is written 24156 in a code
language, then what will be written to TEACHER in the same
code language?
8312346

8312436

(b) 8321436
(d) 8313426

M, T,RIMRPAMPIAPATSTE, T,RATST BT
YA TSI P8 ?

In M, T, R and P, M is only taller than P, T is taller than R.
Who is the tallest among them?

T (b) R

TATRTorR (d) STeT 39afE § Insufficient
data

i & T weit A g (o) 3t 9l e G wsg few gu
7, ot fr oo & feht yoR et § - Seft smuR W
g (: :) B i W 3 10 g A Wl e 4 9
Sferd 2reg 9 -

mﬁ?ﬂ . gHqur . ; ? - TAifa

In the questions given below, two words are given on the
left side of the symbol (: :), which is related in some way -
On the same basis, select the appropriate word from the
options related to the given word on the right side of the
symbol (: :) -

White flag: Surrender::? : Peace

TR Peacock (b) PR Pigeon
dI9 Eagle (d) dIdT Parrot

Fafafea jr ™ d@n gaar § yyarms /g () &
RIF R B -t 6@ 3mett 2

Which number will come in place of question mark (?) In
the following given number series?

681961249°?

1051
1251

foreft widsfa® Y9 A sTormED &Y PuTQCDL foraT et
& St B8 H corRNERS P H4 forar wmew 2

In a code language, STORMED is written as PUTQCDL. How
will CORNERS be written in that code?

SPDMRQD (b) SPDMDQR
SPDORQP (d) DPSMRQD

T Ufdd & 45 &1 ¥ | g #7381 R SR A 20 F ®A
R | NP IHFTRFATIBRIAATR ?

There are 45 trees in a row. The lemon tree is 20th from
the right end. What is the location of the lemon tree from
the left end?

24 (b) 26

25 (d) 27

& it e BT eagd S sremae oY i o T ush
HIIWE -

Study the given figure carefully and answer the questions
given below -

(b) 342
d) 224
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69.

(a) fafore, afe Faa feed |

9 B4 41 3w g ot gt enrpfa A SufRya 8 2
What is the number that is present in all the figures?
3 (b) 4

6 (d) ﬁﬁﬁaﬂgﬁNone of

these

2wy & S a1 A HU SR IFF a1 & Fred 1 3R

few e &1 sy fou T SN HYHT B GG AT §,

va g 3 gdya 9 A f3a 8, 341 et &1 ufee,

fiir T st % @19 w1 fAsed Ry Tu Fu= &1

%wﬁwﬁmm%,al%mﬁawwm
|

Y9 $o A fFau g1,

Fo f[Fau T g

e .

S AU 7

1.3 I g 21

In the question below are given two or three statements

followed by two conclusions | and Il. You have to take both

the given statements to be true even if they are different

from the commonly known facts, read both the conclusions,

then decide which of the given conclusions logically follows

from the given statements irrespective of the commonly

known facts.

Statements: Some pins are clips. .

Some clips are pens.

Conclusion:

I. Some pins are pens.

Il. There no pinis pen.

(b) fafoTe, afg Fwae e
SRV XA 8 | Enter if

only conclusion Il follows.

SITERUT IRAT G | Enter if

only conclusion | follows.

) R afRaraifrediar ) fife afyadfeed =

70.

@

(c) d@MTUncle

71.

1l SR BRATR | |
Enter, if neither
conclusion | nor Il follows. .

II SRV FRAT§ | Enter if
either conclusion | or Il
follows.

R & o 91 ok fead §¢ g oogar ¢ - S9! T84
& fiar, A Staid ufa g | o, sR a1 3

Showing towards Hari's picture, Vijay says - "His sister's
father is my wife's mother's husband." , what is Vijay to

Hari?
Q-HEF Brother (b) El_@':ﬁé Brother-in-law
(d) _5"_-17}[ @[393[% :lgsf None of

these

IR forelt wdiA @1 7 IR YpaR B, 9t 39w Bt
27 ARG B BT -1 T ERm 2

If the 7th of a month is Friday, then what day will it be on
the 27th of that month?

(@)
(©)

72.

(@)
(©)

73.

(@)
(©

74.

(@)
(©)

75.

(@)
(©)

76.

(@)
(©

YEWIIAR Thursday (b) §UYAR Wednesday
YhaR Friday (d) MAAR sunday

T + 1 31 <, - BT 34 +, xabT 3 - 3R P71 Y x3T,

If + means +, - means +, xmeans - and +means x, then8 +4 -
6+3x4=?

13 (b) 8

46 (d) sﬂﬁ@raﬂs‘:@ None of

these

fFrwifed e uy & vyae R (2) $ WA R &4 -
it H@=T a1 3HER AT 2

Which number or letter will come in place of question mark
(?) In each of the following questions?

[
_,fl 3 4

[ E—
125 (b) 215
251 (d) 512

gfe freft B T F NoIDA T 39658 foraT wiraT § @t
i1 e YT H INDIA Y T forRa S 2

If NOIDA is written 39658 in a code language, then what will
INDIA be written in that code language?

36568 (b) 63568
63569 (d) 65369

S: T A, 8, ¢, D, E 3 F Fg B 3R Ug T TP
FATPR IRTTATHI IS U I A, DF AWAR, ¢, A 3R B
FPANTARIFENRAFPTNTARGIOP IABE, M H
Sparff R AR 2

Six friends A, B, C, D, E and F are sitting facing the center
making a circular circle. A is in front of D, C is between A
and B. F is between E and A. B is to the left of D, then who is
to the immediate left of B?

A (b) ¢
D @ E
[ Numerical Ability }

T MEX § YoV SHEE, Afgar SFRie ¥ 151041

arfim 21 Ofg weR ¥ qow SR Afgen sHE®=n &1
SIJUTd shHRT: s.s%,a’fmaﬁgmmm
Fifeg|

In a city, male population is 151041 more than the female
population. If the male and female population of the city
are in the ratio 8: 5 respectively, then find its total
population.
638781

664807

(b) 586807
(d) 654511
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77.

(@) %.3900 Rs. 3900
(c) 3.2600 Rs. 2600

78.

(a) 30000
(c) 40000

79.

(@) 360
(c) 280

80.

(@) ¥.3600 Rs.3600
(c) ¥.3150 Rs.3150

81.

(a) 20000
(c) 50820

MO & U AW afde d $0 YARIRT A1 afg 3w
WS WR 23%, B YT W 12%, Gt W 17% 4 faran
YT 3T ITF UM AW ¢RI F. 1248 §, df URY &
I AT drde | farast g=RIR At

If Ganesh has some amount of money in amazon wallet and
he spent 23% on food and 12% on cab payment and 17% on
movie, then he left with Rs. 1248, then what amount
money he has initially in his amazon wallet?

(b) ¥.1300 Rs. 1300
(d) 3.2800 Rs. 2800

TP G5 ATHT = (T JURRT BT 25% YR T Tt I,
Y BT 36% UTT Ut T B 3NR AT BT 10% UTT 30
i &1 ¢ f&am| 39% g3 A A9 z15120 7 B fow | IO
U $d fba-t dufx &t

An old man gave 25% of his wealth to his wife, 36% of the
remaining to his daughter, and 10% of the remaining to his
friend. His son snatched the remaining X15120 that was left.
How much wealth did he have in total?

(b) 35000

(d) 245000

20 wemai A faafia &Y 7€ g (Ww) AFel #) s
@A 25 B 1 Ul T Hem3ii & 20% B U B Fdbel B
3RIT BT 40 B 3R AW BeM3N F 25% B U TS
YFel Bt 3NTd TBAT 20 B, A TH AT AT B3 &)
T B8 Adel &t Ho =T 71 S|

Average number of food packets distributed in 20 classes is
25. If average number of food packets received by 20% of
classes is 40 and average number of food packets received
by 25% of the remaining classes is 20. Find the total number
of food packets received by the rest classes together.

(b) 260

(d) 300

fopadt eI WR 3(1/3)% Wi a9 #1 g2 A 41 a6 & forw
HTYROT TS ¥.1000 B | THTA YRR UR 20% Ui I @5t
W 9 3-9TR® FU A i 6 HEH & foe awgfs
R -

Simple interest on a sum at 3( 1/3)% per annum for two
years is Rs.1000. Compound interest on same sum at 40%
per annum in 6 months when compounded 3-monthly is -

(b) ¥.3450 Rs.3450
(d) ¥.2850 Rs.2850

T e o= i 10% wfar 9 o1 % F arfs Fu F
THIRE g aTd Iehqfes saTeT W 4 9§ & g s &t
T 81 2 99 & 3 H yTed g aTat STt o 4 9 & 3id
T YT F9 9T T & o BT 3HeR < 5,082 B, dF €
IR (= H) F1a P

A certain sum is deposited for 4 years at a rate of 10% p.a.
on compound interest compounded annually. The
difference between the interest at the end of 2 years and
that at the end of 4 years is X 5,082. Find the sum (in ).

(b) 25500
(d) 10164

82.

(@)
(©

83.

(@)
©

84.

(@)
(©)

85.

(@)
(©

86.

(@)
(©)

87.

(@)
(©)

88.

3PV A TH gHH W 120 AN @A | pat f{eA- & 7
50% Qe W19 A 3R AW f/AA 20% g1 W 99 faw
T | g1+ ufa=rd faa=m gime?

Arun purchased 120 toys from a Shop. 50% toys of the total
toys were defected and the remaining toys were sold at
20% loss. What will be the overall loss percentage?

75% (b) 80%

50% (d) 60%

TfE (2x + 7y) = 12 3R xy = 3§, ¥ (8x° + 343y*) BT HIF T
|

If (2x + 7y) = 12, and xy = 3, then find the value of (8x3+

343y%).

1440 (b) 360

320 (d) 216

63 BUY Ufd I & Apg & 3me & fora=it #ram (fpum #)
P 36 TUY UfA fruT &) @11 & 40 fHIT A9 F M &
1y fArerar s arfee o f fArgor &1 s8.5 $ud ufa
fPUT U= 999 WR 30% BT ATH BI?

How much quantity (in kg) of corn flour costing Rs. 63 per
kg must be mixed with 40 kg of rice flour of costing Rs. 36
per kg, so that on selling the mixture at Rs. 58.5 per kg,
there is a gain of 30%?

20 THaT 20 kg
60 foPUT 60 kg

S 99 K 3R L UP B! B HHT: 40 U 3R 60 G H HT
TPHd g1 T K Tgd GaAT 3N 10 U 91¢ 7 L JaATl St
B WA W o fpa-m aug @hm?

Two taps K and L can fill a tank in 40 hours and 60 hours
respectively. Tap K opened first and after 10 hours tap L
opened. How much time in total will be taken to fill the
tank?

24°C 24 hours

28 Hi¢ 28 hours

(b) 40 AT 40 kg
(d) 50T 50 kg

(b) 16 ¥¢ 16 hours
(d) 36 ©< 36 hours

SM A TH d15F Wied W 35,645 U0 AR TH
Tefae @HEA WR 24,355 TUA T fU SR ot Ay
BT 20% ITP TR AP & U | Y 4TI Fd T fHa=it
UiE:

Ishan spent Rs 35,645 on buying a bike, Rs 24,355 on buying
a television and the remaining 20% of the total amount he
had as cash with him. What was the total amount?

60,000 % Rs 60,000 (b) 72,000% Rs 72,000

75,000% Rs 75,000 (d) 3TH I B3 T8I None of

these

21 em BT 3R 9 em iﬁﬁmﬁwa%aaaﬁﬁwaﬁ
frgeTeR 1.54 * 10° DI A T4 § 1T ST 8 | YA
BIC g9 D YT JTd DITT |

A large right circular cone of radius 21 cm and height 9 cm is
melted and cast into 1.54 * 10° small similar cubes. Find the

side of each small cube.
4.5 mm (b) 3mm

2.5mm (d) 2mm

Ty g (?) P RIM W 1AM SHET 91T
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@
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89.

@
©

90.

@
(©

91.

@
©

92.

@
(©

93.

@
(©

94.

What should come in place of the question mark (?)

J64 +4+4x3= 72
11 (b) 16
15 (d) 13

T A BT STAGT 154 cm’ B 0.28 cm AN 91 TH
AT BT 3MAAT , Tl F ST & THM @, dF So DY
ST FId BIfU|

A sphere has a volume of 154 cm’. ifa cylinder of diameter
0.28 cm has the same volume as that of the sphere, find the
height of the cylinder.

25m (b) 14m
35m (d) 7m
TS 14 URT-yfagd fe=m d 5 fodt ot amn 15 fme o

P qhal 8| e fRR urt & 9ra #1 7fd 3R ury Y
Tfd BT U 6:1 8, A 7T URT-IITHA =M F 196
ot &Y g aa o=  foramn wwg ol

A boat can travel 5 km upstream in 15 minutes. If the ratio
of speed of the boat in still water to the speed of the
stream is 6:1, how much time will the boat take to cover
19.6 km downstream?

42 fFFE 42 minutes
26 fBFE 26 minutes

(b) 31T 31 minutes
(d) 54 < 54 minutes

[ Computer Awareness }

T A STeRI Al g1 31 Rl § -3 gran
gfaen 3-8 @1 B sFfigpd uga 3 a1 AHdl 82
What security feature can protect an e-banking account
from unauthorized access in case the account login
information is leaked?

UFP®M Encryption (b) TTARAId Firewalls
T oy offdfehRA (2FA)  (d) CAPTCHA

Two-factor authentication
(2FA)

MS Excel T TS T g -1 $T AT dHe FTR?

What is the shortcut To create a new workbook in MS
Excel?

Ctrl+N (b) ctrl+0

Ctrl +P (d) Ctrl+X

PIEIE | fFa TR & BIA (keys) T 82

How many types of keys are there in a keyboard?

2 (b) 4

5 (d) 10

P AN siffAEeRE awte ddyg (cpu) B

R 9o § (@ R 9 W) fEdt of s
AP qP T B B SFAfS U Hedl 82

Which memory organization technique allows the CPU to
access any memory location in constant time (independent
of the memory size)?

(@)

(©)

95.

(@)
(©)

96.

(@)
(©

97.

(@)
©

98.

(@)
(©

99.

(@)
(©)

100.

(@)
(©)

AR Cache Memory (b) aﬁ&lﬁﬁ'ﬁhﬂwrtual
Memory

THIREfed AERt (d) STREE HHRI TR

Associative Memory (DMA) Direct Memory
Access (DMA)

fFafafad d @ $9-A@ e i) wisa a1 Se1 tae §,
o TP 9IS E GRT F1Ee & HHer W WURId (TR)
o wTaT 82

Which of the following is a small file or data packet, which
is stored by a website on the client's computer?

W Cookie (b) %Eof History
W Bookmark (d) & cache
g4 TR Pt sHftwman dar () Hex 3l

The maximum range of Bluetooth communication is
meters.

5 (b) 10

15 (d) 20

pDF & 'p' frvrdh forT wraT g 22
What is 'P' in PDF short for?

Printable (b) Power
Portable (d) Personal

fFafiafaa ¥ § S19-a1 Jwe difsar ieay ¢ e
Ie el & forg emexf 22

Which of the following social media is ideal for business to
business purposes?

feidE€3 Linkedin (b) IR Youtube

BIITW Whatsapp (d) @RI Quora

HISHIBH, ehard IUSIUN & ISR B |
Microphone, Trackball are examples of devices.
3TI3CYC Output (b) =TYC Input

$IYe AR 3M3cYe aHl  (d) 378 Y Pl g None of
Both Input and Output the above

famr frafefaa & @ f5a $ut gr1 faefRa fear man
TP 94 §9 82

'Bing' is a search engine developed by which of the

following companies?
(b) W Facebook

1[ITel Google
1szl'lTrT\ll'_-fAmazon (d) chrosoﬂ
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